DIMENSIONAL DATA
Large Missile Impact Resistant MODELS A B C_|INLETDIA| OUTLETLXW | EST UNIT WEIGHT (Ibs.)
Max rated design pressure : +53.0 / —112.0 PSF QBR10OH | 18.94 | 20.69 | 18.86 | 10.13 | 1056 | 7 91
QBR137H 259 |27.36 | 25.47| 1513 | 1452 | 10.81 142
QBR161H 30.52 | 32.26 | 29.41 | 16.88 | 17.16 | 12.75 190
QBR200H 37.64 | 38.7 | 34.93| 2131 | 21.22 | 15.75 270
QBR245H 46 | 4858|4142 | 26.38 26 | 19.24 356
~— OUTLET W — OUTLET L — QBR270H  [50.66 | 53.12 [ 43.33 | 30.19 | 28.66 | 21.15 391
QBR300H 56.22 | 62.49 | 47.46 | 31.69 | 31.84 | 23.52 536
QBR330H 61.81 | 64.35 | 49.82 | 36.19 | 35.02 | 25.88 585
L. QBR365H 68.33 | 70.72 | 53.55 | 40.19 | 38.73 | 290.61 689
L 3012H 25.19 | 33.25 | 35 135 | 12.94 | 9.75 160
Dllmlh_/IEErrER 3013H 27.63 | 34.06 | 36.12 | 14.75 | 14.25 | 10.88 180
30154, 8115H | 30.63|35.19| 37 | 16.25 | 15.88 | 11.75 221
3016H 33.44 | 36.19 | 38.38 | 1825 | 17.38 | 13.13 252
3018H,8118H | 35 | 38 | 45 20 19.25 | 14.5 275
0 0 B 3020H,8120H | 39 | 43 | 47 22 | 2113 | 16 330
3022H,8122H | 43 | 45 | 49 24 235 | 17.63 380
B g 3024H,8124H | 47 | 52 | 54 27 25.88 | 19.5 520
3027H,8127H | 52 | 53 | 56 30 285 | 215 580
3030H,8130H | 58 | 60 | 60 33 31.63 | 23.63 775
3033H,8133H | 63 | 69 | 66 36 34.88 | 26.25 950
| [ 3037H,8137H | 70 | 71 | e8 39 38.5 | 28.88 1050
e QBR100SEH [18.94 | 20.69 [ 21.86 | 10.13 | 10.56 7 93
} j QBR137SEH 26.9 | 27.36 [28.47 | 15.13 | 1452 | 10.81 145
QBR161SEH | 30.52 | 32.26 [32.41| 16.88 | 17.16 | 12.75 194
Tt B QBR200SEH | 37.64 | 38.7 [37.93| 21.31 | 21.22 | 15.75 275
. . | QBR245SEH 46 | 4858 |44.42| 26.38 26 | 19.24 363
QBR270SEH 50.66 | 53.12 | 46.33 | 30.19 | 28.66 | 21.15 399
QBR300SEH | 56.22 [ 62.49 [ 50.46 | 31.69 | 31.84 | 23.52 547
C A QBR330SEH 61.81 | 64.35 | 52.82 | 36.19 | 35.02 | 25.88 597
QBR365SEH | 68.33 | 70.72 [ 56.55 | 40.19 | 38.73 | 29.61 703
8115SEH 30.63[35.19| 40 | 1625 | 15.88 | 11.75 225
8118SEH 35 | 38 | 48 20 19.25 | 145 281
8120SEH 39 | 43 | 50 22 2113 | 16 337
8122SEH 43 | 45 | 52 24 235 | 17.63 388
8124SEH 47 | 52 | 57 27 2588 | 19.5 530
8127SEH 52 | 53 | 59 30 285 | 215 592
8130SEH 58 | 60 | 63 33 31.63 | 23.63 791
General Notes: 8133SEH 63 | 69 | 69 36 34.88 | 26.25 969
8137SEH 70 | 72 | 11 39 385 | 28.88 1071
Joseph A. Reed, PE 1. Product evaluated in accordance with requirements of 2006
TX PE 100777 International Building Code and ASCE 7-05. Dimensions are in inches unless otherwise noted.
Architectural Testing, Inc. 2. Roof structure must be designed for weight of unit and wind
TX Firm F-11869 load reactions transferred from the unit.
130 Derry Ct. 3. Product evaluated for the structural capacity of the exterior
York, PA 17404 housing only. Interior mechananisms and/or electrical
717-764-7700 components have not been evaluated.
Project No.: E8434.06-122-34 4, All fasteners must be corrosion resistant.
DWG NO. LET. REVISION RECORD BY CKD. DATE . ,
T3 QBS 43’536) % 1%OSEO€E)€|;_BP 1F/ 2 g EevisionstperhMi?msi—chde12 —— BPF_| TCR 2527;12 Acme Engineering &
ANS evision to shee ine per Miami Dade. TCR TGB |1/24/13 i
VAT ! ! C | Revisions to sheet 5 concerning isolators. TCR TGB [8/5/14 MQHUFQC'tu}"IHQ COPD'
e e D | REVISED FOR FBC 2014 TCR | 1GB_ |6/2/15 1820 N. York Street
BPF [™™5/19/11 £ | ADDED SHEET 9 TCR_ | TGB__[12/4/18
BTCR 5/19/11 REESD F | Revisions to sheets 5 & 9 per Miami Dade. TGB__| TCR_|[5/19/18 MUSROQG’E’; OK 74403
T N (ScAE G | Revisions to sheet 9 per Miami Dade. TGB TCR [8/23/16 918-68P-779]
B NTS H | WOOD SCREW PENETRATION AND CONCRETE STRENGIH TGB | TCR _|3/1/17




Large Missile Impact Resistant
Max rated design pressure :

+53.0 / —112.0 PSF

#14 Wood Screws !

or )4 Lag Bolts
through plywood
and into
framing with a
minimum 1%”
embedment.
Equally
spaced.

5/8" plywood
roof decking

5/8" plywood roof decking

Wood Timber

Min. 4" Thickness

Elevation View Min G = 0.42

Wood Deck Installation

#14 Self—drilling
Screws through
roof deck, full
penetration

of threads through
truss or steel support
structure.
Equally spaced.

Minimum 18 gage
Roof Deck

Elevation View

L Steel Roof Truss
Minimum 12 gage

Support Structure by others

Minimum 4" steel

Metal Building Installation

Hilti Kwik Bolt 3
expansion anchors

(%6 x 47)
into concrete
with @ minimum
2" embedment.
Equally
spaced.

Minimum Concrete
Strength 2500PSI

Elevation

View

Concrete Deck Installation

N 3
Vot
*x o

JOSEPH A. REED

Joseph A. Reed, PE
TX PE 100777
presiy Architectural Testing, Inc.

«3 100777 A TX Firm F-11869
AR GENSE G 130 Derry Ct.
g AN York, PA 17404
3/7/;’ 7 717-764-7700
Project No.: E8434.06-122-34
DWG NO. LET. REVISION RECORD BY CKD. DATE . .
—= 646020 Sheet_ 2/9 A_| Revisions per Miami—Dade BPF | TcR 2727717 Acme Engineering &
QBR 3000 8100 ROOF OP I-_ANS B | Revision to sheet 6 line 12 per Miami Dade. TCR TGB |1/24/13 Manufacty I’iﬂg COI’p
TRT ) ) C | Revisions to sheet 5 concerning isolators. TCR TGB [8/5/14 )
DRAFTER DATE D | REVISED FOR FBC 2014 TCR_| TGB [6/2/15 1820 N. York Street
BPF 5—9-11 E | ADDED SHEET 9 TCR__| TGB__[12/4/15 403
S TCR 3]0 =] Revisions To sheets b %0 por Mon: Dode. TeB | TCR 5;19;16 Muskogee, OK 74
: G | Revisions to sheet 9 per Miami Dade. TGB TCR |8/23/16 _ _
g MRS SRENT S H | WOOD SCREW PENETRATION AND CONCRETE STRENGTH T6B | TR |3/1/17 918—-682—/7/91




Large Missile Impact Resistant
Max rated design pressure :

+53.0 / —112.0 PSF

Dimensions are in

SMOKE EXHAUST MODELS - FOUNDATION PLAN & FASTENERS FOR CONCRETE STANDARD MODELS - FOUNDATION PLAN & FASTENERS FOR CONCRETE
Mode! BOLTSIZE | cC BC BD BE BF__| Model BOLTSIZE| cC Bc BD BE BF__|
QBR100SEH 3/8" 5.06 4.25 7.69 17.44 QBR100H 3/8" 5.06 4,25 4.69 14.44
QBR137SEH 3/8° 7 6.19 9.5 22 QBR137H 3/8" 7 6.19 6.5 19
QBR161SEH 3/8" 8.31 7 11 24.5 QBR161H 3/8" 8.31 7 8 21.5
QBR200SEH 3/8" 9.5 7.88 | 12.94 | 27.44 QBR200H 3/8" 9.5 7.88 9.84 24.44
QBR245SEH 3/8" 10 105 | 15.19 30.5 QBR245H 3/8" 10 105 | 12.19 27.5
QBR270SEH 3/8" 10.03 | 11.63 | 16.31 | 33.31 - QBR270H 3/8" 10.03 | 11.63 | 13.31 | 30.31 =
QBR300SEH 3/8" 1156 | 12.63 | 16.38 | 26.76 | 37.14 QBR300H 3/8" 1156 | 12.63 | 13.38 | 23.76 | 34.14
QBR330SEH 3/8" 11.56 14 17.5 2788 | 3823 QBR330H 3/8" 11.56 14 14.5 2488 | 3523
QBR365SEH 3/8" 12.06 | 15.69 | 19.56 | 29.94 | 40.32 QBR365H 3/8" 12.06 | 15.69 | 16.56 | 26.94 | 37.32
8115SEH 3/8" 8.25 0 8 14.5 - 3012H 3/8" 8.25 0 7 14.5 g
8118SEH 3/8" 9.75 8.5 9.38 17 3013H 3/8" 8.25 0 7.56 14.5
8120SEH 3/8" 9.75 925 | 10.13 17 3015H, 8115H 3/8° 8.25 0 8 145
8122SEH 3/8" 9.76 | 10.06 | 10.94 17 3016H 3/8" 8.25 0 8.69 14.5
8124SEH 3/8" 115 11 11.94 21 3018H, 8118H 3/8" 9.76 8.5 9.38 17
8127SEH 3/8" 11.5 12 12.94 21 3020H, 8120H 3/8" 9.75 9.25 | 10.13 17
8130SEH 3/8" 115 | 13.06 14 21 , 3022H, 8122H 3/8" 9.75 | 10.06 | 10.94 17
MODEL BOLT SIZE L Q R S u 3024H, 8124H 3/8" 115 11 11.94 21
8133SEH 3/8" | 215 | 1434 | 425 | 24.81 | 14.19 3027H, 8127H 38 115 12 | 12.94 21
8137SEH 3/8" 2325 | 1566 | 4.25 24.81 | 14.19 3030H, 8130H 3/8" 115 | 13.06 14 21 5
MODEL BOLT SIZE L Q R S U
3033H, 8133H 3/8" 215 | 14.34 | 4.25 24.81 | 14.19
3037H, 8137H 3/8° 23.25 | 1566 | 4.25 24.81 | 14.19

inches unless otherwise noted.

Footprint should be referenced for the quantity of
bolts required for mounting.

FOUNDATION PLAN - CONCRETE

SIZES 3033-3037
SIZES 8133-8137

PLAN VIEW

O = 9/16" holes for 1/2” bolts T BF
BE BE
BD | BD {
o i ¥ T I l BC
—{ cc e }
y =0 Rbot PR SIZES QBR 100-270 SIZES QBR 300—365
X PE 100777 SIZES 3012—-3016 SIZES 3018-3030
Architectural Testing, Inc. SIZES 8115 SIZES 8118-8130
TX Firm F-11869
130 Derry Ct.
York, PA 17404
717-764-7700
Project No.: E8434.06-122-34
DWG NO. LET. REVISION RECORD BY | CKD. | DATE . .
—— BR6 43'(%6) %1%OSEO%?BP 3|__g I\?S A_| Revisions per Miami—Dade BPF_| TCR 2;27;12 Acme Engineering &
B | Revision to sheet 6 line 12 per Miami Dade. TCR TGB [1/24/13 '
WLQ ! ! C | Revisions to sheet 5 concerning isolators. TCR TGB [8/5/14 MQY\U‘FQC'tUi"H’\Q COY‘D.
e — D | REVISED FOR FBC 2014 TCR__| 16B__|6/2/15 1820 N. York Street
BPF 5/20/11 E | ADDED SHEET 9 TCR_[TGB [12/4/18  \\' | OK 74403
EIEE@!TCR_E)/ZO/H REEASD ~ F | Revisions to sheets 5 & 9 per Miami Dade. TGB | TCR 5;19;16 usKogee,
e . G | Revisions to sheet 9 per Miami Dade. 1GB TCR |8/23/16 — —
GroMReTSAE NI T S H | WOOD SCREW PENETRATION AND CONCRETE STRENGTH ToB | TCR _[3/1/17 218-682-//91




Model
QBR10OSEH
QBR137SEH
QBR161SEH
OBR200SEH
QBR245SEH
QBR270SEH
QBR300SEH
QBR330SEH
QBR365SEH

8115SEH
8118SEH
8120SEH
8122SEH
8124SEH
8127SEH
8130SEH
Model
8133SEH
8137SEH

ScrewSize #of Screws CC

5.06
7
831
9.5
10
10.03
11.56
11.56
12.06
825
975
9.75
9.75
11.5
115
115

21.5

2325 1566 4.25 2481 14.19

1/4" 8
1/4" 8
1/4" 8
1/4" 10
1/4" 12
1/4" 12
1/4" 16
1/4" 18
1/4" 20
1/4" 8
1/4" 14
1/4" 14
1/4" 14
1/4" 16
1/4" 18
1/4" 2
ScrewSize #ofScrews L
1/4" 28
1/4" 30

Dimensions are in inches

GITIINE S s,
“s*/';;«EOF T

‘\‘ (q

Large Missile Impact Resistant
Max rated design pressure

+53.0

SMOKE EXHAUST MODELS - FOUNDATION PLAN & FASTENERS FOR WOOD/STEEL

BC BD
425 | 765
6.19 | 9.5
7 11
7.88 1294
105  15.19
11.e3 1631
1263 16.38
14 175
1588 19.56
0 8
85 938
9.25 100.13
1006 10.%4
n 119
2 129
13.06 14
Q R
1434 4.25

/ —112.0 PSF

STANDARD MODELS - FOUNDATION PLAN & FASTENERS FOR WOOD/STEEL

BE BF Model Screw Size | #of Screws CC | BC | BD BE @ BF
1744 QBR100H 1/4" 8 5.06 4.25 469 14.44 -
| - QBR137H 1/4" 8 7.00 6.19 650 19.00 -
QBR161H 1/4" 8 831 7.00 800 2150 -
25 QBR200H 1/4" 10 950 7.88 994 24.44 -
Za - QBR245H 1/4" 12 10.00 10.50 12.19 27.50
305 - QBR270H 1/4" 12 10.03 11.63 13.31 30.31
3331 - QBR300H 1/4" 16 11.56 12.63 13.38 23.76 37.14
26.76 37.14 QBR330H 1/4" 18 11.56 14.00 14.50 24.88 38.23
27.8% 38.23 QBR365H 1/4" 20 12.06 15.69 16.56 26.94 40.32
2994 40.32 3012H 1/4" 8 8.25 0.00 7.00 1450 -
145 - 3013H 1/4" 8 8.25 0.00 7.56 1450 -
7 - 3015H, 8115H 1/4" 8 8.25 0.00 8.00 14.50
T = 3016H 1/4" 8 8.25 0.00 869 1450 -
TN 3018H, 8118H 1/4" 14 9.75 850 938 17.00 -
= 3020H, 8120H 1/4" 14 9.75 9.25 10.13 17.00 -
3022H, 8122H 1/4" 14 9,75 10.06 10.94 17.00
A 3024H, 8124H 1/4" 16 11.50 11.00 11.94 21.00 -
a - 3027H, 8127H 1/4" 18 11.50 12.00 12.94 21.00
s v 3030H, 8130H 1/4" 22 11.50 13.06 14.00 21.00
24.81 14.19 Model Screw Size #of Screws L Q R s u
3033H, 8133H 1/4" 28 21.50 14.34 4.25 24.81 14.19
3037H, 8137H 1/4" 30 23.25 15.66 4.25 24.81 14.19

unless otherwise noted.

Footprint should be referenced for the quantity of

bolts required for mounting.

X = H¢" HOLES FOR
%" SHEET METAL/WOOD SCREWS

Joseph A. Reed, PE
TX PE 100777

OR J4" LAG BOLTS
EQUALLY SPACED.

FOUNDATION PLAN

i

_|_>

T

LAV
I\J\nl\l\

VAVEV] VAV
AN YAl ANA

SIZES 3033-3037
SIZES 8133—-8137

— WOOD & STEEL

}

}BE
BD

AV ALY S NL
Al KAl CANEA]

Srlne Sg Ng
Fal AT AT A

BC |
cc |—

SIZES QBR 100—-270
SIZES 3012-3016

SIZES QBR 300-365
SIZES 3018-3030

C
|
| y
|
P
PLAN VIEW
% %
X X
X X | BF
X X BE
X X
X % BD i
X X
% X ' BC
—' ¢cc |- '

Architectural Testing, Inc. SIZES 8115 SIZES 8118—-8130
TX Firm F-11869
130 Derry Ct.
York, PA 17404
717-764-7700
Project No.: E8434.06-122-34
DWG NO. LET. REVISION RECORD BY | CKD. | DATE . .
— 646020 Sheejt 479 5 Revisions per Miami—Dade spr | TcR _[p/27712 Acme Engineering &
QBR. 3000 8100 ROOFTOP FANS[BRevision to_sheet 6 line 12 per Miami Dade. TCR 168 1172413 Monufacturing Corp.
T ! ! C | Revisions to sheet 5 concerning isolators. TCR TGB [8/5/14
SR . D | REVISED FOR FBC 2014 TCR | 16B_ |6/2/15 1820 N, York Street
BPF 5/20/11 E | ADDED SHEET 9 TCR | TGB__[12/4/15 ” OK 74403
ENG TCR 5/20/” RELEASED " F | Revisions to sheets 5 & 9 per Miami Dade. TGB TCR 5;19;12 Mus ogee,
G | Revisions to sheet 9 per Miami Dade. TGB TCR 18/23/16 - -
gio MRS seE NI T S H | WOOD SCREW PENETRATION AND CONCRETE STRENGTH T6B | TCR_[3/1/17 918-682-//91




Large Missile Impact Resistant

Max rated design pressure : +53.0 / —112.0 PSF ﬂ:@\

Hh
|

(e

?\

V

Minimum edge
distance 2.00"

Mounting with Isolators on Rails

Joseph A. Reed, PE Detail B
TX PE 100777
Architectural Testing, Inc.

TX Firm F-11869 or Rail
130 Derry Ct. Detail A Isolators by others. This example shows spring isolators,
York, PA 17404 neoprene isolators may also be used.

717-764-7700
Project No.: E8434.06-122-34

Reference pages 3, 4, and 5 for bolt sizes and quantities.

DWG NO. LET. REVISION RECORD BY CKD. | DAIE , .
646020 Shee_t 2/ 9 A | Revisions per Miami—Dade BPF | TCR [2/27/12] Acme Engineering &
TITLE =)

QBR 3000 8100 ROOF OP FANS B | Revision to sheet 6 line 12 per Miami Dade. TCR TGB [1/24/13 MQHUFQC'tUY‘ihQ CO}"D
VI ) ! C | Revisions to sheet 5 concerning isolators. TCR TGB [8/5/14 '
R BB [N 5/20/“ D | REVISED FOR FBC 2014 TCR | 1GB 6/3/}5 1820 N. York Street

E | ADDED SHEET 9 TCR | 1GB |12/4/18
G TCR 5/20/” RS - F | Revisions to sheets 5 & 9 per Miami Dade. TGB | TCR 5%9;16 MUSROQE’E’; OK 74403

: = G | Revisions to sheet 9 per Miami Dade. TGB TCR [8/23/16 —_ —

oM SENT S H [ WOOD SCREW PENETRATION AND CONCRETE STRENGTH o5 TR [371747] o682 7791




Models A -Inlet Connection |Qty | B -Drive-Side Plate |Qty | C -Pedestal Connection |Qty| D -Motor Base |Qty| F-Bearing Base |Qty| G-Weather Cover Top #1 | Qty |H -Weather Cover Top #2*| Qty J -Weather Cover Back |Qty| K-Access Door |Qty| L-BaseAngles |Qty
822: 12(7’ 1/4" Bolts & Nuts 1/4" Bolts & Nuts 5/16" Bolts & Nuts |~ | 4 | 4] La rge Missile Impo ct Resistant
Q15911 1 gt vt | 7167 ot s | 8 . . wa  |val Max rated design pressure : +53.0 / —112.0 PSF
QBRH |245 S 6 |
QBRH |270 3/8" Bolts & Nuts
QBRH [300| 3/8"Bolts & Nuts | | 3/8"Bolts &Nuts [ | g 8
QBRH |330 16 16 3/8"Bolts & Nuts | 8
QBRH |365 1/2" Bolts & Nuts | 4 | 1/2" Bolts & Nuts | 4 1/4" Bolts & Nuts 1/4" Screws 4 1/4" Bolts & Nuts 1/4° Bolts & Nuts | 8
QBRSEH| 137 | 1/4" Bolts & Nuts 1/4" Bolts & Nuts 5/16" Bolts & Nuts | |
g:gzi: ;g; 5/16" Bolts & Nuts 8 5/16" Bolts & Nuts 8 6 6 N/A N/A
QBRSEH | 245
QBRSEH | 270 || | | w8'Bots&Nuts || 10 il 7 6
QBRSEH | 300| 3/8" Bolts & Nuts 3/8" Bolts & Nuts a 8 1 2
QBRSEH | 330 16 16 3/8" Bolts & Nuts | 8 1 3 ‘_ A
QBRSEH | 365
*Applicable to SE models only C —
QBR SERIES — PARTS AND MATERIALS B
[ PART DESCRIPTION 100 137 161 200 245 270 300 330 365 1 6
1_|Pedestal Side 16 ga. crm 14 ga. cre 14 ga. cre 14 go. cre 12 go. hrpo 12 ga. hrpo 12 ga. hrpo 12 ga. hrpo 12 ga. hrpo
2 |Drive Base 12 ga. crs 12 ga. cre 12 ga. hrpo 10 ga. hrpo 10 ga. hrpo 10 ga. hrpo 7 ga. hrpo 7 go. hrpo 7 ga. hrpo
|3 |Mounting Plgte 14 ga. crs 14 ga. cr» 14 ga. crs 12 ga. hrpo 12 go. hrpo 12 ga. hrpo 12 ga. hrpo 12 ga. hrpo 12 ga. hrpo
Access Door 20 ga. cre 20 ga. cra 20 ga. crs 20 ga. cre 18 go. crs 18 ga. cre 18 ga. cre 18 ga. cra 18 ga. cre
ilﬂﬁkmm_&ﬁb 12 ga. crs 12 ga. cra 12 ga. hrpo 12 ga. hrpo 12 go. hrpo 12 ga. hpo 12 go. hrpo 12 ga. hrpo 12 ga. hrpo
6 |Adapter Ring 16 ga. crs 16 ga. erm 18 ga. crs 14 ga. crs 14 go. cre 14 ga. cr» 14 ga. crs 14 ga. crs 14 go. crs
7Z_1Orifice Alum_3003—0 .050 |Alum 3003—14 .050 [Alum 3003—0 .050 |Aum 3003—0 .050 |Alum 3003-0 .063 Aum_3003—0 .083 [Alum 3003—0 .063 |Alum 3003—-0 .080 |Alum 3003—-14 .080
LMT09#1 20 ga. cre 18 ga. cre 18 ga. cre 18 ga. cre 16 ga. cm 16 ga. cre 16 ga. crs 16 ga. crm 18 ga. cre
19 |Front Support 18 ga. cra 14 ga. cre 16 go. crs 16 ga. cre 14 go. cre 12 ga. hrpo 12 ga. hrpo 12 ga. hrpo 12 ga. hrpo
1 10{Weather Cover Back 20 ga. cre 18 ga. cra 18 ga. cre 18 ga. crs 16 ga. cm 14 ga. cre 16 ga. crs 18 ga. crs 18 go. cra
11{Bgse Angle = = = = . = 12 ga. hrpo 12 ga. hrpo 12 go. hipo
12 ga. cr» 12 ga. crs 12 ga. cre 14 ga. cre 14 ga. cre 14 ga. cre 14 ga. crs 14 ga. cre 14 go. cre
16 ga. cr» 16 ga. cre 16 ga. cre 14 go. cre 14 ga. cre 14 ga. c» 10 ga. hrpo 10 go. hrpo 10 ga. hrpo
14 ga. crs 14 ga. crs 12 ga. hrpo 12 go. hrpo 12 ga. hrpo 12 ga. hrpo 12 ga. hrpo 12 ga. hrpo 12 ga. hrpo
. 19 ga. 1/2° x 1/2° |19 ga. 1/2° x 1/2° |19 ga. 1/2° x 1/2" [19 ga. 1/2" x 1/2° |19 ga. 1/2° x 1/2" |19 ga. 1/2" x 1/2° [19 ga. 1/2° x 1/2° |19 ga. 1/2° x 1/2" |19 ga. 1/2° x 1/2°
59 Bindscresn® Galvanized Wire Galvanized Wire Galvanized Wire Galvanized_Wire Gaivanized Wire Galvanized Wire Gaivanized Wire & Wire Galvanized Wire
Vi 20 go. crs 18 ga. crs 18 ga. crm 18 ga. e 16 ga. cre 16 ga. crs 16 ga. cre 16 ga. crs 16 ga. cre
Alum_3003-H14 .080|Alum 3003—-H14 .050(Alum 3003-H14 .063|Alum_3003—H14 .083|Alum 3003—H14 .083|Alum 3003—H14 .083]Alum 3003-H14 .080|Alurn_3003—H14 .080|Alum 3003-H14 .080{

*Applicable to SE models only

1. "CRS" is an acronym for “cold rolled steel”. 8 /
2. "HRPO" is an acronym for “hot rolled, pickled, and oiled”,
3. ltems 12, 13, and 14 make the housing weldment.
4. All pieces made of steel are painted using baked enamel.
5. In table above, line 17 gives material of backplate, /
the major structural component of wheel. 2
| b A Reed. PE QBR SERIES
oseph A. Reed, X
TX PE 100777 SIZES: 100-365
. o Architectural Testing, Inc.
100777 <& ¢ TX Firm F-11869
ENSEGS 130 Derry Ct. H
et MO G York, PA 17404
3/ ) 717-764-7700 10
Project No.: E8434.06-122-34
DWG NO. LET. REVISION RECORD BY CKD. DATE ' :
TE 646020 Sheert 6/9 A | Revisions per Miami—Dade BPF TCR [2/27/12 Acme E"TQ“’WE’@V‘”’TQ &
QBR. 3000, 8100 ROOFTOP FANS[BIRevision to sheet & line 12 per Miami Dade. TCR [ T6B [1/24/13  Manufacturing Corp.
T ] ! C | Revisions to sheet 5 concerning isolators. TCR TGB [8/5/14
DRAFTER DATE | D | REVISED FOR FBC 2014 TCR | TGB [6/2/15 1820 N. York Street
P BPF o 4/2‘]/11 | E | ADDED SHEET 9 TCR TGB [12/4/185 M |_< DK 74403
W TCR 3/20/11 2 — F | Revisions to sheets 5 & 9 per Miami Dade. TGB | TCR 5;1 9//1 6 usKogee,
- f==of G | Revisions to sheet 9 per Miami Dade. TGB TCR [8/23/16 — —_
oW PENTS H | WOOD SCREW PENETRATION AND CONCRETE STRENGTH s TR a/i77] 210 68¢ 7791




3000 & 8100 SERIES - PARTS AND MATERIALS

3012 3013 3015 3016 3018 3020 3022 3024 3027 3030
# Component - - 8115 - 8118 8120 8122 8124 8127 8130
1 Housing Center 16 gacrs 16 gacrs 16 ga crs 14 ga crs 14 gacrs 14 ga crs 14 gacrs 14 gacrs 14 gacrs 14 gacrs
2 Housing Slde 14 gacrs 14 gacrs 14 gacrs 14 ga crs 14 gacrs 14 gacrs 14 gacrs 12 ga hrpo 12 ga hrpo 12 ga hrpo
3 Inlet 14 ga crs 14 ga crs 14 ga crs l4gacrs 14 ga crs 14 gacrs 14 ga crs 14 ga crs 14 gacrs 14 gacrs
4 Inlet Flange Slip Fit 14 gacrs 14 gacrs 14 ga crs l4gacrs 14 gacrs 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo
5 Inlet Support 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo 10 ga hrpo
6 Outlet Flanges .19"x2"x2"angle | .19"x2°x 2" angle | .19"x2"x 2" angle | .19"x2"x 2"angle | .19"x 2" x 2"angle | .19"x 2" x 2"angle | .19"x 2" x 2" angle | .19"x2"x2"angle | .19"x 2"x 2" angle | .19"x 2"x 2" angle
7 Drive Base Front 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo 10 ga hrpo 10 ga hrpo 10 ga hrpo 7 ga hrpo 7 ga hrpo 7 ga hrpo
8 Drive Base Side 10 ga hrpo 10 ga hrpo 10 ga hrpo 10 ga hrpo 10 ¢ga hrpo 10 ga hrpo 10 ga hrpo 7 ga hrpo 7 ga hrpo 7 ga hrpo
9 Weather Cover Top 16 gacrs 16 gacrs 16 gacrs 16 ga crs 16gacrs 16 gacrs 16 ga crs 16 gacrs 16 gacrs 16 gacrs
10 Weather Cover Back 16 gacrs 16 ga crs 16 gacrs 16gacrs 16 gacrs 16 gacrs 16 ga crs 16 ga crs 16 gacrs 16gacrs
11 Weather Cover Door 16 gacrs 16 gacrs 16 gacrs 16 gacrs 16 gacrs 16 gacrs 16 gacrs 16 gacrs 16 gacrs 16gacrs
12 Motor Base Plate 10 ga hrpo 10 ga hrpo 10 ga hrpo 10 ga hrpo 10 ga hrpo 10 ga hrpo 10 ga hrpo 7 ga hrpo 7 ga hrpo 7 ga hrpo
13 Bearing Base Plate 12 ga hrpo 12 ga hrpo 12 ga hrpo 12 ga hrpo 10 ga hrpo 10 ga hrpo 10 ga hrpo 7 ga hrpo 7 ga hrpo 7 ga hrpo
14 Access Door 14 gacrs 14 gacrs 14 gacrs 14 gacrs 14 gacrs 14 gacrs 14 ga crs 14 gacrs 14 gacrs 14 gacrs

__WHEEL 10 go. hrpo 10 go. hrpo 10 ga. hrpo 10 go. hrpo 10 go. hrpo 10 ga. hrpo 7 ga. hrpo 7 go. hrpo 7 ga. hrpo 7 ga. hpo
Model / Size A -Inlet connection | Qty | B -Pedestal Connection | Qty | C-Motor Plate | Qty | D- Weather Cover Top |Qty | F -Weather Cover Back Qty | G - Motor Access Door | Qty | H - Housing Access Door | Qty

3012H|3012H
3013H|3013H - -
3015H|3015H | 8115SEH | 8115SEH
3016H| 3016H - .

3018H|3018H| 8118SEH | B118SEH

3/8" Bolts & Nuts

L=

130 Derry Ct.
York, PA 17404
717-764-7700

Project No.: E8434.06-122-34

30201 30201 | 8120SEK | B120SEH 3/8" Bolts & Nuts ——{ 3/8"Bolts & Nuts  |—— 4 1/4" Screws 4 1/4" Screws [ 1/4" Screws 4 1/4" Bolts & Nuts 8
3022H | 3022H | 8122SEH | 8122SEH .
3024H | 3024H | 8124SEH | 8124SEH 12 19| /% Bolts & Nuts
3027H | 3027H | 8127SEH | 8127SEH
3030H| 3030H | 8130SEH | 8130SEH
8100 & 3000 SERIES
SIZES: 3012-3030
SIZES: 8115—8130 B
F
10
1. "CRS” is an acronym for “cold rolled steel”.
2. "HRPO" is on acronym for "hot rolled, pickled, and oiled".
3. Item 7, 8(2) and 13 make the pedestal weldment.
4. tems 1, 2 ond 6 make the housing weldment.
5. All pieces made of steel are painted using baked enamel.
6. In table above, line 15 gives material of backplate, the major structural component of wheel.
’ﬂ.pr/.'t;,,‘_
f n H ’-’"
"l' 37 J..F_FS-# = v
WA ity =
o < N
NP 2 Joseph A. Reed, PE
N, v T o usaderannnnantt
N JOSFEPH A REED 3§ LR P_E 100777 . =
oenmp:-ccrtrassnesassveteennl Architectural Testing, Inc.
100777 S& 8 TX Firm F-11869

Large Missile Impact Resistant
Max rated design pressure: +53.0/ —112.0 PSF

— 13 8

C

DWG NO. LET. REVISION RECORD BY CKD. DATE , .
S 646020 Shee;t 7/ | A | Revisions per Miami—Dade BPF_| TCR [2/27/12 ACme Eﬁgmeef"mg &

QBR’ 3000’ 8100 ROOF OP FANS g Eev!s!on to _sheet 6 line 12 per Miami Dade. TCR TGB [1/24/13 MQHUFQC‘tUV\il’TQ COY‘D.
o e e CE N Vo Serect
DRAFTER BDE [OAE @/ /11 E | ADDED SHEET 9 TCR | B [12/4/15 '

TR T Musk OK 74403

ﬁ%ﬂ TCR 6/9/” REEASD &~ F | Revisions to sheets 5 & 9 per Miami Dade. TGB TCR |5/19/16 usKogee,
o = G_| Revisions to sheet 9 per Miami Dade. TGB TCR 18/23/16 — .
g M SRENIT S H | WOOD SCREW PENETRATION AND CONCRETE STRENGTH TGB__| TCR__|3/1/17 218-682-//91




" JOSEPH A. REED
% 100777

8100 & 3000 SERIES
SIZES: 3033-3037
SIZES: 8133-8137

11

Joseph A. Reed, PE

TXPE 100777

Architectural Testing, Inc.

TX Firm F-11869
130 Derry Ct.
York, PA 17404
717-764-7700

Project No.: E8434.06-122-34

Model/ S_ize A -Inlet connectlon | Qty B-Pedes-tal Connection |Qty| C -Drive Base |Qty D-MotorPIats Qty | F -Weather Cover Top | Qty | G -Weather Cover Back | Qty H-W%hchverSEe Qty| J-Access Door |Qty| K - Drive Base Angle | Qty | L -Housing Base Angle | Qty | M- Connecting Strip | Qty
3033H [ 3033SEH | 8133H | 8133SEH . N . ., . . = = ., . .
3037H | 3037SEH 81371 | 8137SEN 3/8" Bolts & Nuts | 12 3/8" Bolts & Nuts 12 | 1/2" Bolts & Nuts | 10 | 1/2" Bolts & Nuts | 4 1/4" Screws 6 1/4" Screws [} 1/4" Screws 22 |1/4"Bolts& Nuts | 8 | 3/8"Bolts & Nuts | 8 3/8" Bolts & Nuts 2 | 3/8"Bolts&Nuts | 8

3000 & 8100 SERIES - PARTS AND MATERIALS
Model
* H°°f’°°;'e": 033,133 3037, 8157 Large Missile Impact Resistant
1 ousin, enter gacrs crs N
2 TS 12 ga hrpo D Max rated design pressure : +53.0 / —112.0 PSF L
3 Inlet 12 ga hrpo 12 ga hrpo
4| Inlet Flange Slip Fit 12 ga hrpo 12 ga hrpo 1. "CRS” is an acronym for “cold rolled steel”. 6
5 Inlet Support 10 ga hrpo 10 ga hrpo 2. "HRPO" Is an acronym for "hot rolled, pickled, and olled” steel. 17
6 Outfet Flanges A9"x2'x2"angle | .19'x2°x2'angle 3. ltems 1, 2, and 6 make the housing weldment.
7 Drive Base Base Front 7 gahrpo 7 gahrpo 4, kem 17 (drive side support assembly) is a weldment.
8 D’:‘J"?Bage Sase Rear 25_7 Sga h;‘:° ' 25,7 gf'h;'f° 5. All pieces made of steel are painted using baked enamel.
190 w;\;ieragi Ve:i:p - ie g);cr:nge : ;6 g’;cr:ngm 6. In table‘ above, line 19 giveas material of backplate,
the major structural component of wheel.
11 Weather Cover Rear 16 gacrs 16 gacrs
12 Weather Cover Side 16 ga crs 16 gacrs
13 Connecting Strip 12 ga hrpo 12 ga hrpo
14 Housing Base Angle 25" x 3" x 3" angle 25" x3"x 3" angle
15 Motor Base Plate 7 ga hrpo 7 ga hrpo
16 Bearing Base Plate 7 ga hrpo 7 ga hrpo
17| Drive Side Support Assembly 10 ga hrpo 10 ga hrpo
18 Access Door 14 gacrs l4gacrs
19 _ WHEEL 7 ga. hipo 7 ga. hrpo

646020

Sheet 8/9

" QBR, 3000, 8100 ROOFTOP_FANS

MAT'L

TR BPS

> 5/19/11
RELEASED

BTCR 5/19/11

CHKD MFG.’
BY

SCALE NT$

LET. REVISION RECORD BY CKD. DATE

A | Revisions per Miami—Dade BPF TCR [2/27/12
B | Revision to sheet 6 line 12 per Miami Dade. TCR TGB |1/24/13
C | Revisions to sheet 5 concerning isolators. TCR_| TGB__[8/5/14
D | REVISED FOR FBC 2014 TCR TGB |6/2/15
E | ADDED SHEET 9 TCR TGB |12/4/15
E | Revisions to sheets 5 & 9 per Miami Dade. TGB TCR [5/19/16
G | Revisions to sheet 9 per Miami Dade. TGB TCR [8/23/14
H [ WOOD SCREW PENETRATION AND CONCRETE STRENGTH TGB TCR [3/1/17

Acme Engineering &

Manufacturing Corp.
1820 N. York Street
Muskogee, UK 74403
918-682-/7791




Large Missile Impact Resistant
Max rated design pressure :

,(r!,'!/lll,,
-

+53.0 / —112.0 PSF

(2) 1" wide 12 Ga angle
clips with %" thru bolt.

2 fasteners. Fastener on
other side of support not
shown.

2 to 6 Fasteners

Per Schedule
2.00”

Typ. \
2 Fasteners
Rails in Axial Orientation

Rails in Lateral Orientation
for QBR100 Only

Edge Distance

Continuously 2.00” Min.

Welded

TX PE 100777

T

A\ o
& A\ 4t
- LS!J_'

TX Firm F-11869
130 Derry Ct.
York, PA 17404

Joseph A. Reed, PE

Architectural Testing, Inc.

Minimum edge
distance 2.00"

Flange dimension 4.00" Roof anchors per

sheet 2 of 10.

1/2" Lag Screw

Flat Washer

~ I —— 2X PT Buck
~

18 GA G90 Galv.
/
—A—
Section Through Rail

~
~

\Y

Fastener Schedule
QBR
Model Min. Rail Rail # Lag Bolts
Size | #Rails Length (in) Orientation per Rail
100 2 22 Lateral 8
137 2 42 Axial 8
161 2 45 Axial 8
200 2 49 Axial 8
245 2 53 Axial 12
270 2 57 Axial 12
300 2 62 Axial 12
330 2 64 Axial 16
365 2 70 Axial 16
3000/8100
Model Min. Rail Rail # Lag Bolts

Size # Rails Length (in) .Orientation per Rail
12 2 28 Axial 8

13 2 30 Axial 8

15 2 28 Axial 8

16 2 30 Axial 8

18 2 33 Axial 8

20 2 33 Axial 8

22 2 35 Axial 8

24 2 38 Axial 8

27 2 38 Axial 12
30 2 35 Axial 12
33 2 71 Axial 16
37 2 74 Axial 16

Rails must provide a minimum clearance above

717'-764-77.00 Detail A Detail B surfaces according to F.B.C 1509.6.5
Project No.: E8434.06-122-34 Maximum Curb Height of 48"
DWG NO. LET. REVISION RECORD BY CKD. | DATE . .
TS QBR6 43_063(()) %1(8085090?t0|39|/-—:NS_A Revisions per Miami—Dade BPF TCR [2/27/12 ACme EHQ'V‘@@"‘”"Q &
B | Revision to sheet 6 line 12 per Miami Dade. TCR TGB |1/24/13 '
T ! ! C | Revisions to sheet 5 concerning isolators. TCR TGB [8/5/14 MQHU'FQC"tUY‘II’TQ COV‘D.
- e D | REVISED FOR FBC 2014 TCR | 16B |6/2/15 1820 N, York Street
TR BPF 5/20/11 E | ADDED EQUIPMENT RAILS ON SHEET 9 TCR | 1GB_ [12/4/15
TR 5/ /118 F | Revisions to sheets 5 & 9 per Miami Dade. Te8 [ TcR [5/1971 Muskogee, UK 74403
: £ G | Revisions to sheet 9 per Miami Dade. TGB TCR [|8/23/16 — -
CHKD MFG. SC
B ENTS H | WOOD SCREW PENETRATION AND CONCRETE STRENGTH TGB_| TCR_13/1/17 218-682-7791




